REquivalents

A THIS WILL NOT BE COVERED IN THE LECTURES IT IS A TOOL YOU MAY USE TO HELP YOU FIND A SERIES TO COMPARE TO.

IF YOU USE THIS I RECOMMEND YOU APPLY THE LIMIT TEST AFTERWARDS TO CHECK YOU HAVEN'T MADE A MISTAKE.

I - Introduction

Consider a series (Ean), once, ingeneral, we cannot compute the partial sums SN= Zan we are reduced to trying to deduce convergence of Ean france properties

of the general term (an) nEIN We have seen, that if Ean converges then live any but this is not enough In general (Recall Zin diverges!) what seens to matter is how fast (an) is converging to 0. (1) is too slow but (1) d>1 is fast enough. We have also learnt that our main tool is to compare series. Recall the main (and only underlying idea) is: if os an son

and Ebn Converges then Ean converges Ean diverges then Ebn diverges. So to compare series we want to Conpare the behaviour of the general term , Equivalents give a rigorous meaning to the idea "an" and "bn" have the same behaviour when n->+>>. I The Definition. This is the mathematical part, been with me, its important because it gives you the meles.

Def We say that two sequences
$$(a_n)$$
 and (b_n)
are equivalent, if for every $\mathcal{E} \in \mathbb{R}^n_+$, there
is $N_0 \in \mathbb{N}$ such that whenever $n \ge n_0$,
we have the colonate:
 $|a_n - b_n| \le \mathbb{E}|b_n|$
Remark, if $b_n \ne 0$ for $n \ge n_0$.
Muis means $\left[\frac{a_n}{b_n} - 1\right] \le \mathbb{E}$
ie $\lim_{n \to +\infty} \frac{a_n}{b_n} = 1$
then $a_n \simeq b_n$
Prop If $\lim_{n \to +\infty} \frac{a_n}{b_n} = 1$ then $a_n \simeq b_n$

Г

 $n^3 + 2n^2 + n \sim n^3$ Etample: $n^{3} + 2n^{2} + n = n^{3} \left(1 + \frac{2}{n} + \frac{1}{n^{2}} \right)$ Indeed So $\lim_{n \to +\infty} \frac{n^2 + 2n^2 + n}{n^3} = (...)$ In general any polynomial expression in n is equivalent to the term of highest degree ic akn + 9k-1nk-1 + - + ao N aknk Etample 2: If (bn) converges to a real L70 then by v L,

A if a sequence (an) converges to O then it is not true an general that an vo In fact for a sequence to be equivalent to O it must be constant and equal to 0 after a finite number of terms. > Do not replace a sequence converging to D by O when computing equivalents Equivalents are all about finding out how (an) converges to O SHORT VERSION $a_{N} \sim 0$ > Never write

III - Rules of computation It terns out that this definition is good" In the sense that there is an associated calculus Here are the rules: 1) an ~bn $b_n \sim a_n$ $N \rightarrow 100$ $\begin{array}{c}
(2) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3) \\
(3)$ $\Rightarrow a_n \sim C_n$ $\xrightarrow{n \rightarrow +\infty}$ 3 an ~ an N-sta This means that " \sim " behaves like "="

Let (an) be a sequence then : (F) Cn ~ dn Hen an Cn ~ andn n->+>> n->+>> We can multiply equivalents!! an ~ bn and and notion Nowif Chadn and not budn so an Cn ~ brdn h->+~ we can also deduce that if a, to, b, to after a finite number of terms then $a_n \sim b_n \implies 1 \sim 1$

Exponential and live $a_n - b_n = 0$ 5 If an ~ bn then en rem $\frac{p_{\text{roof}}}{e^{\ln n}} = e^{a_n - \ln n}$ $\frac{e}{e^{4n}} - \frac{1}{n-3t\infty}$ Since an-ln --- so to en retra 6 Some other functions • Suppose lim $a_n = 0$ (ln (1+a_n) $n \rightarrow \infty$ (2n (a_n) $\sim a_n$ N->+~ v an N-2700 • If lim an =0 and an whon norm lulan in lulbo

A le cannot ingéneral take finctions of equivalence. does not A Summation of equivalences work. $\int a_n \sim b_n$ $\int c_n \sim d_n$ $\int c_n \sim d_n$ then it is NOT in general true that ant cn ~ but dn an vn notos BUT anton v l e.g. $a_n = n$ bn = -n + l $b_n \sim -n$ DON'T ADD EQUIVALENCES

IV - Applications

The If an Ubn thea Ean Conveges if and only if Zbn converges N.B. This is glest a restatement of the lowert test. $\frac{\text{Tramples}}{N \ge 0} \sum_{n=1}^{N^3 + 2n + 1} \frac{1}{n^{10} + 3n + 1}$ $\frac{n^3 + 2n + 1}{n^{1\circ} + 3n + 1} \sim \frac{1}{n^{-2}}$ so $\sum \frac{n^3 + 2n + 1}{n^{10} + 3n + 1}$ converges because $5\frac{1}{h^2}$ converges

$$\sum_{n \ge 1} l_n (1+\frac{1}{n^3}) \sin\left(\frac{1}{n}\right)$$

$$n \ge 1$$

$$\sum_{n \ge 1} n^{5}$$

$$\sum_{n \ge 1} l_n (1+\frac{1}{n^2}) \sum_{n \ge 1} l_n (1+\frac{1}{n^2}) \sum_{n \ge 1} \frac{1}{n^{5}}$$

$$\sum_{n \ge 1} l_n (1+\frac{1}{n^2}) \sum_{n \ge 1} l_n (1+\frac{1}{n^2}) \sum_{n \ge 1} \frac{1}{n^{5}}$$

$$\frac{1}{n^{5}} \sum_{n \ge 1} l_n (1+\frac{1}{n^2}) \sum_{n \ge 1} \frac{1}{n^{5}}$$

$$\frac{1}{n^{5}} \sum_{n \ge 1} l_n (1+\frac{1}{n^2}) \sum_{n \ge 1} \frac{1}{n^{5}}$$

$$\frac{1}{n^{5}} \sum_{n \ge 1} l_n (1+\frac{1}{n^2}) \sum_{n \ge 1} \frac{1}{n^{5}}$$

$$\sum_{n \ge 1} l_n (1+\frac{1}{n^2}) \sum_{n \ge 1} l_n (1+\frac{1}{n^2}) \sum_{n \ge 1} \frac{1}{n^{5}}$$

$$\sum_{n \ge 1} l_n (1+\frac{1}{n^2}) \sum_{n \ge 1} l_n (1+\frac{1}{n^2}) \sum_{n \ge 1} \frac{1}{n^{5}}$$

$$n\ln(1+\frac{x}{h}) \frac{\sqrt{2}}{n+\infty}$$
This means that $\lim_{N \to +\infty} n\ln(1+\frac{x}{h}) = x$

$$\lim_{N \to +\infty} \ln\ln(1+\frac{x}{h}) - x) = 0$$

$$\lim_{N \to +\infty} \ln\ln(1+\frac{x}{h}) - x) = 0$$

$$\lim_{N \to +\infty} \ln\ln(1+\frac{x}{h}) \frac{\sqrt{2}}{n}$$

$$\lim_{N \to +\infty} \ln(1+\frac{x}{h}) \frac{\sqrt{2}}{n}$$

Equivalences can be used to calculate
limits:
Proposition
if an
$$\sim$$
 bn and lim $a_n = L$
where $L \in IRO \leq 100, -003$
then lim $b_n = L$ -
 $n \rightarrow 10$
Proof Suppose L is fornte ; then (an) is bounded
Let $M \gg 0$ such that $IanI \leq M$ for all $n \in IN$,
Let $E \gg 0$, there is $m_0 \in IN$ such that
whenever $n \geq n_0$, $Ia_n - LI \leq E_2$
There is also $m_1 \in IN$ such that
whenever $n \geq n_0$, $Ib_n - a_n \leq E IanI \leq E$
 $now I b_n - LI \leq Ib_n - a_n I + Ia_n - LI \leq E$
whenever $n \geq max(m_0, n_1)$, so lim $b_n = L$

If him
$$a_n = +\infty$$

 $n \to +\infty$
Let $A > 0$, there is $n_0 \in \mathbb{N}$ such that
when $n \ge n_0$, $a_n \ge 2A > 0$ Now one can
also find $n_1 \in \mathbb{N}$, such that $|b_n - a_n| \le \frac{|a_n|}{2}$
so when $n \ge max(n_1, n_0)$
 $b_n - a_n \ge -\frac{|a_n|}{2} = -\frac{a_n}{2}$
 $B = b_n \ge -\frac{a_n}{2} \ge A$.
The proof as similar if $L = -\infty$.
Example $0 \cap \sin(\frac{1}{n}) \propto n \ge \frac{1}{n - p + \infty} = \frac{1}{n - p + \infty}$
so $\lim_{n \to \infty} u \sin(\frac{1}{n}) = 1$
 $(2 = \frac{n^2 + 2n + 1}{3n^2 + 50n + 225} = \frac{1}{3}$.

I - Concluding remarks . There is a very formous formula, known as Stirling's formula, that gives an equivalent for n' Theorem $n! \sim (z_{TT}n' \left(\frac{n}{e}\right)^n$ This gives a very good approximation of n' for very large n. · My advice : if you feel that this makes sense to yon, use it in your draft book (so use the known equivalents above) but check your answer using the limit test.

If you think this could be useful to you and want to practice try to show: $\frac{n \ln \left(1 + \sin^2 \left(\frac{1}{n}\right)\right)}{\sin \left(\frac{1}{n}\right)} \sim 1$ Ex 1: $n^{3}ln(1+\frac{2}{n})ln(1+\frac{3}{n}) \sim 6n$ E.2: $\sqrt{n^3 + 2n^2 + 1}$ $n \rightarrow +\infty$ $n^{\frac{3}{2}} \left(\begin{array}{c} alabeta \\ lim \\ n \rightarrow +\infty \end{array} \right)$ Ers $E_{r4} n(l_n(n+1)-l_n) \sim 1$ $trs e^{-n^2+1} - n^2 \qquad e^{-n^2}$

$$\frac{E+6}{n^2 + n^2} \qquad \frac{1}{n + n + \infty} \qquad \frac{1}{n^5}$$

$$\frac{E+7}{n^2 + n^2} \qquad \frac{1}{n + n + \infty} \qquad \frac{1}{n^5}$$

$$\frac{E+7}{n^2} \qquad \frac{1}{n \left(\ln\left(e^{+1}\right)\right)} \qquad \frac{1}{n + \infty} \qquad \frac{1}{e^n}$$

$$\frac{E+8}{n + \infty} \qquad \frac{1}{n^2 + \infty} \qquad \frac{1}{n^2 + \infty} \qquad \frac{1}{n^2 + \infty}$$

$$\frac{1}{n^2 + \infty} \qquad \frac{1}{n^2 + \infty} \qquad \frac{1}{n^2 + \infty} \qquad \frac{1}{n^2 + \infty}$$